
KFUPM          MATH201       Quiz#3     Time:20min.           Sec.11 

Q1 Find the equation of the line in which the planes intersect. 

5𝑥 − 2𝑦 = 11,     4𝑦 − 5𝑧 = −17  

intersection point  let 𝑥 = 1 → 𝑦 = −3 → 𝑧 = 1 → (1, −3,1) 

 

Q2. Find the limit lim(𝑥,𝑦)→(0,0)
𝑥2𝑦

𝑥2+𝑦2   if it exists.  

Change to polar coordinates lim𝑟→0
𝑟3𝑐𝑜𝑠2𝜃𝑠𝑖𝑛𝜃

𝑟2
= lim

𝑟→0
r𝑐𝑜𝑠2𝜃𝑠𝑖𝑛𝜃 = 0 

𝑐𝑜𝑠2𝜃𝑠𝑖𝑛𝜃 bouded 

 

     Q3. z = tan−1 (
x

y
) ,   x = u cos(v), y = u sin(v). Express  

𝜕𝑧

𝜕𝑢
 in terms of u and v 

 

 


